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	Strongly Agree |
Agree
	Agree |
Neither
	Neither |
Disagree
	Disagree |
Strongly Disagree

	Model 1: Experience
	B
	SE
	B
	SE
	B
	SE
	B
	SE

	
	B2
	0.745
	0.167
	2.610
	0.226
	3.803
	0.337
	4.607
	0.472

	
	B3
	-1.592
	0.177
	-0.026
	0.150
	0.977
	0.158
	3.026
	0.245

	
	B4
	-1.095
	0.163
	0.809
	0.156
	1.955
	0.183
	3.850
	0.321

	
	C1
	-1.288
	0.167
	0.258
	0.148
	1.305
	0.162
	2.938
	0.235

	
	C2
	-0.356
	0.155
	1.893
	0.185
	2.843
	0.230
	4.779
	0.472

	
	C3
	-2.086
	0.205
	-0.148
	0.148
	0.737
	0.153
	2.360
	0.199

	
	CDC
	-3.497
	0.287
	-2.630
	0.217
	-1.565
	0.173
	-0.009
	0.153

	Model 2: Information sources
	B
	SE
	B
	SE
	B
	SE
	B
	SE

	
	B2
	-0.315
	0.338
	1.620
	0.359
	2.835
	0.435
	3.648
	0.546

	
	B3
	-2.760
	0.332
	-1.152
	0.307
	-0.136
	0.301
	1.911
	0.343

	
	B4
	-2.393
	0.325
	-0.416
	0.303
	0.786
	0.306
	2.711
	0.400



Note. B = coefficient estimates (on logit scale). SE = standard error of the estimate. Questionnaire item/model outcome labels are abbreviated; see Figure 1 for text of questionnaire items.


